
5.特許の無効審判 図表１１
質問9

用
1）5千円未満 0人 0.0%
2）5千円以上1万円未満 2人 0.3%
3）1万円以上2万円未満 0人 0.0%
4）2万円以上3万円未満 0人 0.0%
5）3万円以上4万円未満 3人 0.5%
6）4万円以上5万円未満 5人 0.8%
7）5万円以上6万円未満 5人 0.8%
8）6万円以上8万円未満 4人 0.6%
9）8万円以上10万円未満 3人 0.5%
10）10万円以上12万円未満 13人 2.0%
11）12万円以上14万円未満 12人 1.8%
12）14万円以上16万円未満 14人 2.1%
13）16万円以上18万円未満 15人 2.3%
14）18万円以上20万円未満 28人 4.3%
15）20万円以上25万円未満 85人 13.0%
16）25万円以上30万円未満 69人 10.5%
17）30万円以上35万円未満 138人 21.1%
18）35万円以上 216人 33.0%
無効 43人 6.6%
合計 655人 100.0%

最小値 2）5千円以上1万円未満
平均値 282,157円
最大値 1,000,000円
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